

SOME UNIFIED INTEGRALS OF MITTAG LEFFLER FUNCTIONS

N.U. Khan, *M.M. Eltikali, M. Kamarujjama and *T.M. Elfrgani

Communicated by Ayman Badawi

MSC 2010 Classifications: Primary 33E05, 33E12; Secondary 33C60.

Keywords and phrases: Mittag Leffler function, Oberhettinger’s integral formula.

Abstract In this paper we establish integral formulas involving generalized Mittag Leffler functions which are expressed in terms of Wright hypergeometric function. Some useful special cases of our main results are also considered.

1 Introduction

The Mittag Leffler functions and its various generalizations has become a center of attraction of scientists in applied mathematics and mathematical physics through several years. This function has a recent growing interest by mathematicians in the last few years due to its close relation to the fractional calculus.

In 1903, Mittag-Leffler, G. M. [2] discovered his remarkable function $E_\alpha(z)$ as follows:

$$E_\alpha(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + 1)}, \tag{1.1}$$

where $z \in C, \alpha \in C, \Re(\alpha) > 0$, the generalization of Mittag-Leffler function define as follows:

$$E_{\alpha,\beta}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\alpha n + \beta)}, \tag{1.2}$$

where $\alpha, \beta \in C, \Re(\alpha) > 0, \Re(\beta) > 0, z \in C$ with C being the set of complex numbers which is known as Wiman function [10].

In 1971, Prabhakar [4] defined the function $E_{\alpha,\beta}^\gamma(z)$ in the following form

$$E_{\alpha,\beta}^\gamma(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!}, \tag{1.3}$$

where $\alpha, \beta, \gamma \in C, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, z \in C$ and $(\gamma)_n$ is the pochhammer’s symbol [5]. The generalization of $(\gamma)_n$ is given as

$$(\gamma)_n = \gamma(\gamma + 1)(\gamma + 2) \dots (\gamma + n - 1), \quad n \geq 1, \tag{1.4}$$

$$= \prod_{m=1}^n (\gamma + m - 1), \quad (\gamma)_0 = 1, \quad \gamma \neq 0,$$

$$(\gamma)_n = \frac{\Gamma(\gamma + n)}{\Gamma(\gamma)}, \quad (\gamma)_0 = 1.$$

For this factorial function, we get

$$(\gamma)_{mn} = m^{nm} \left(\frac{\gamma}{m}\right)_n \left(\frac{\gamma+1}{m}\right)_n \dots \left(\frac{\gamma+m-1}{m}\right)_n, \tag{1.5}$$

where m is a positive integers and n is a non-negative integer. In 2007, Shukla and Prajaputi [8] introduced the the function

$$E_{\alpha,\beta}^{\gamma,q}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta)} \frac{z^n}{n!}, \tag{1.6}$$

where $\alpha, \beta \in C, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0,$ and $q \in (0, 1) \cup N$. In 2009, Salim, [7]. introduced the function $E_{\alpha,\beta}^{\gamma,\delta}(z)$ as follows

$$E_{\alpha,\beta}^{\gamma,\delta}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n z^n}{\Gamma(\alpha n + \beta)(\delta)_n}, \tag{1.7}$$

where $\alpha, \beta, \gamma, \delta \in C, \Re(\alpha) > 0, \Re(\beta) > 0, \Re(\gamma) > 0, \Re(\delta) > 0$.

The generalization of the generalized hypergeometric series ${}_pF_q$ is due to Fox [1] and Wright ([11], [12], [13]) who studied the asymptotic expansion of the generalized (Wright) hypergeometric function (see [6] and [9]).

$${}_p\Psi_q \left[\begin{matrix} (\alpha_1, A_1), \dots, (\alpha_p, A_p); \\ (\beta_1, B_1), \dots, (\beta_q, B_q); \end{matrix} z \right] = \sum_{k=0}^{\infty} \frac{\prod_{j=1}^p \Gamma(\alpha_j + A_j k)}{\prod_{j=1}^q \Gamma(\beta_j + B_j k)} \frac{z^k}{k!}, \tag{1.8}$$

where A_1, \dots, A_p and B_1, \dots, B_q are positive real numbers such that:

$$i) 1 + \sum_{j=1}^q B_j - \sum_{j=1}^p A_j > 0 \text{ and } 0 < |z| < \infty; z \neq 0. \tag{1.9a}$$

$$ii) 1 + \sum_{j=1}^q B_j - \sum_{j=1}^p A_j = 0 \text{ and } 0 < |z| < A_1^{-A_1} \dots A_p^{-A_p} B_1^{B_1} \dots B_q^{B_q}. \tag{1.9b}$$

A special case of (1.8) is

$${}_p\Psi_q \left[\begin{matrix} (\alpha_1, 1), \dots, (\alpha_p, 1); \\ (\beta_1, 1), \dots, (\beta_q, 1); \end{matrix} z \right] = \frac{\prod_{j=1}^p \Gamma(\alpha_j)}{\prod_{j=1}^q \Gamma(\beta_j)} {}_pF_q \left[\begin{matrix} \alpha_1, \dots, \alpha_p; \\ \beta_1, \dots, \beta_q; \end{matrix} z \right], \tag{1.10}$$

where ${}_pF_q$ is the generalized hypergeometric series defined by (see[11], section 1.5)

$${}_pF_q \left[\begin{matrix} \alpha_1, \dots, \alpha_p; \\ \beta_1, \dots, \beta_q; \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{(\alpha_1)_n \dots (\alpha_p)_n z^n}{(\beta_1)_n \dots (\beta_q)_n n!} \\ = {}_pF_q(\alpha_1, \dots, \alpha_p; \beta_1 \dots \beta_q; z). \tag{1.11}$$

2 Result Required:

For our present investigation, the following interesting and useful result due to Oberhettinger, will be required [3]:

$$\int_0^{\infty} x^{\mu-1} (x + a + \sqrt{x^2 + 2ax})^{-\lambda} dx = 2 \lambda a^{-\lambda} \left(\frac{a}{2}\right)^{\mu} \frac{\Gamma(2\mu)\Gamma(\lambda - \mu)}{\Gamma(1 + \lambda + \mu)}, \tag{2.1}$$

provided $0 < \Re(\mu) < \Re(\lambda)$.

3 Main results

We establish integrals involving generalized Mittag-Leffler $E_{\alpha,\beta}^{\gamma,q}$, which are expressed in terms of Wright hypergeometric function.

$$\begin{aligned}
 i) \int_0^\infty x^{\mu-1} \left(x+a+\sqrt{x^2+2ax}\right)^{-\lambda} E_{\alpha,\beta}^{\gamma,q} \left(\frac{y}{x+a+\sqrt{x^2+2ax}}\right) dx \\
 = \frac{a^{\mu-\lambda} 2^{1-\mu} \Gamma(2\mu)}{\Gamma(\frac{\gamma}{q}) \Gamma(\frac{\gamma+1}{q}) \dots \Gamma(\frac{\gamma+q-1}{q})} \\
 \times_{q+2}\psi_3 \left[\begin{matrix} (\frac{\gamma}{q}, 1), (\frac{\gamma+1}{q}, 1), \dots, (\frac{\gamma+q-1}{q}, 1), (\lambda+1, 1), (\lambda-\mu, 1); \\ (\lambda+\mu+1, 1), (\lambda, 1), (\beta, \alpha), _, _ ; \end{matrix} \frac{y q^q}{a} \right]. \tag{3.1}
 \end{aligned}$$

$$\begin{aligned}
 ii) \int_0^\infty x^{\mu-1} \left(x+a+\sqrt{x^2+2ax}\right)^{-\lambda} E_{\alpha,\beta}^{\gamma,q} \left(\frac{xy}{x+a+\sqrt{x^2+2ax}}\right) dx \\
 = \frac{a^{\mu-\lambda} 2^{1-\mu} \Gamma(\lambda-\mu)}{\Gamma(\frac{\gamma}{q}) \Gamma(\frac{\gamma+1}{q}) \dots \Gamma(\frac{\gamma+q-1}{q})} \\
 \times_{q+2}\psi_3 \left[\begin{matrix} (\frac{\gamma}{q}, 1), (\frac{\gamma+1}{q}, 1), \dots, (\frac{\gamma+q-1}{q}, 1), (\lambda+1, 1), (2\mu, 2); \\ (\lambda, 1), (\lambda+\mu+1, 2), (\beta, \alpha), _, _ ; \end{matrix} \frac{y q^q}{2} \right]. \tag{3.2}
 \end{aligned}$$

Proof of (3.1): In order to prove the main integral (3.1), we consider the left hand side of (3.1) by I, expressing $E_{\alpha,\beta}^{\gamma,q}$ as a series with the help of definition (1.6), we have

$$(i) I = \int_0^\infty x^{\mu-1} \left(x+a+\sqrt{x^2+2ax}\right)^{-\lambda} \sum_{n=0}^\infty \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta) n!} \left(\frac{y}{x+a+\sqrt{x^2+2ax}}\right)^n dx,$$

changing the order of integration and summation, which is verified by uniform convergence of the involved series under the given conditions, we get

$$\sum_{n=0}^\infty \frac{(\gamma)_{qn}}{\Gamma(\alpha n + \beta) n!} \frac{y^n}{n!} \int_0^\infty x^{\mu-1} \left(x+a+\sqrt{x^2+2ax}\right)^{-(\lambda+n)} dx. \tag{3.3}$$

Evaluating the above integral with the help of (2.1) and then using (1.4) and (1.5), after a little simplification, we get the our main result(3.1).

similarly, by the same technique one can establish the result (3.2).

4 Variation of (3.1):

$$\begin{aligned}
 \int_0^\infty x^{\mu-1} \left(x+a+\sqrt{x^2+2ax}\right)^{-\lambda} E_{\alpha,\beta}^{\gamma,q} \left(\frac{y}{x+a+\sqrt{x^2+2ax}}\right) dx \\
 = \frac{\lambda a^{\mu-\lambda} 2^{1-\mu} \Gamma(2\mu)\Gamma(\lambda-\mu)}{\Gamma(\beta)\Gamma(\lambda+\mu+1)} \\
 \times_{q+2}F_3 \left[\begin{matrix} \Delta(1; \frac{\gamma}{q}), \Delta(1; \frac{\gamma+1}{q}), \dots, \Delta(1; \frac{\gamma+q-1}{q}), \Delta(1; \lambda+1), \Delta(1; \lambda-\mu); \\ \Delta(\alpha; \beta), \Delta(1; \lambda+\mu+1), \Delta(1; \lambda), _, _, _ ; \end{matrix} \frac{y q^q}{a} \right]. \tag{4.1}
 \end{aligned}$$

5 Special cases:

(i) Taking $q = 1$ in (3.1) and (3.2), after a little simplification, we get

$$\int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} E_{\alpha,\beta}^\gamma \left(\frac{y}{x + a + \sqrt{x^2 + 2ax}}\right) dx$$

$$= \frac{a^{\mu-\lambda} 2^{1-\mu} \Gamma(2\mu)}{\Gamma(\gamma) \Gamma(\gamma + 1)} {}_3\psi_3 \left[\begin{matrix} (\gamma, 1), (\lambda + 1, 1), (\lambda - \mu, 1); \\ (\lambda + \mu + 1, 1), (\lambda, 1), (\beta, \alpha); \end{matrix} \frac{y}{a} \right] \tag{5.1}$$

$$\int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} E_{\alpha,\beta}^\gamma \left(\frac{xy}{x + a + \sqrt{x^2 + 2ax}}\right) dx$$

$$= \frac{a^{\mu-\lambda} 2^{1-\mu} \Gamma(\lambda - \mu)}{\Gamma(\gamma) \Gamma(\gamma + 1)} {}_3\psi_3 \left[\begin{matrix} (\gamma, 1), (\lambda + 1, 1), (2\mu, 2); \\ (\lambda, 1), (\lambda + \mu + 1, 2), (\beta, \alpha); \end{matrix} \frac{y}{2} \right] \tag{5.2}$$

(ii) Taking $q = 1$ and $\gamma = 1$ in (3.1) and (3.2), after a little simplification, we get

$$\int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} E_{\alpha,\beta} \left(\frac{y}{x + a + \sqrt{x^2 + 2ax}}\right) dx$$

$$= a^{\mu-\lambda} 2^{1-\mu} \Gamma(2\mu) {}_3\psi_3 \left[\begin{matrix} (1, 1), (\lambda + 1, 1), (\lambda - \mu, 1); \\ (\lambda + \mu + 1, 1), (\lambda, 1), (\beta, \alpha); \end{matrix} \frac{y}{a} \right] \tag{5.3}$$

$$\int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} E_{\alpha,\beta} \left(\frac{xy}{x + a + \sqrt{x^2 + 2ax}}\right) dx$$

$$= a^{\mu-\lambda} 2^{1-\mu} \Gamma(\lambda - \mu) {}_3\psi_3 \left[\begin{matrix} (1, 1), (\lambda + 1, 1), (2\mu, 2); \\ (\lambda, 1), (\lambda + \mu + 1, 2), (\beta, \alpha); \end{matrix} \frac{y}{2} \right] \tag{5.4}$$

(iii) Taking $q = \gamma = \beta = 1$ in (3.1) and (3.2), after a little simplification, we get

$$\int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} E_\alpha \left(\frac{y}{x + a + \sqrt{x^2 + 2ax}}\right) dx$$

$$= a^{\mu-\lambda} 2^{1-\mu} \Gamma(2\mu) {}_3\psi_3 \left[\begin{matrix} (1, 1), (\lambda + 1, 1), (\lambda - \mu, 1); \\ (\lambda + \mu + 1, 1), (\lambda, 1), (1, \alpha); \end{matrix} \frac{y}{a} \right] \tag{5.5}$$

$$\int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} E_\alpha \left(\frac{xy}{x + a + \sqrt{x^2 + 2ax}}\right) dx$$

$$= a^{\mu-\lambda} 2^{1-\mu} \Gamma(\lambda - \mu) {}_3\psi_3 \left[\begin{matrix} (1, 1), (\lambda + 1, 1), (2\mu, 2); \\ (\lambda, 1), (\lambda + \mu + 1, 2), (1, \alpha); \end{matrix} \frac{y}{2} \right] \tag{5.6}$$

(iv) Taking $q = \gamma = \beta = 1$ and $\alpha = 0$ in (3.1) and (3.2), after a little simplification, we get

$$\int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} \left(1 - \frac{y}{x + a + \sqrt{x^2 + 2ax}}\right)^{-1} dx$$

$$= a^{\mu-\lambda} 2^{1-\mu} \Gamma(2\mu) {}_3\psi_2 \left[\begin{matrix} (1, 1), (\lambda + 1, 1), (\lambda - \mu, 1); \\ (\lambda + \mu + 1, 1), (\lambda, 1); \end{matrix} \frac{y}{a} \right] \tag{5.7}$$

$$\int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} \left(1 - \frac{xy}{x + a + \sqrt{x^2 + 2ax}}\right)^{-1} dx$$

$$= a^{\mu-\lambda} 2^{1-\mu} \Gamma(\lambda - \mu) {}_3\psi_2 \left[\begin{matrix} (1, 1), (\lambda + 1, 1), (2\mu, 2); \\ (\lambda, 1), (\lambda + \mu + 1, 2); \end{matrix} \frac{y}{2} \right] \tag{5.8}$$

(v) Taking $q = \gamma = \beta = \alpha = 1$ in (3.1) and (3.2), after a little simplification, we get

$$\begin{aligned} & \int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} \exp\left(\frac{y}{x + a + \sqrt{x^2 + 2ax}}\right) dx \\ &= a^{\mu-\lambda} 2^{1-\mu} \Gamma(2\mu) {}_2\psi_2 \left[\begin{matrix} (\lambda + 1, 1), (\lambda - \mu, 1); & \frac{y}{a} \\ (\lambda + \mu + 1, 1), (\lambda, 1); & \end{matrix} \right] \end{aligned} \quad (5.9)$$

$$\begin{aligned} & \int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} \exp\left(\frac{xy}{x + a + \sqrt{x^2 + 2ax}}\right) dx \\ &= a^{\mu-\lambda} 2^{1-\mu} \Gamma(\lambda - \mu) {}_2\psi_2 \left[\begin{matrix} (\lambda + 1, 1), (2\mu, 2); & \frac{y}{2} \\ (\lambda, 1), (\lambda + \mu + 1, 2); & \end{matrix} \right] \end{aligned} \quad (5.10)$$

(vi) Taking $q = \gamma = \beta = 1$ and $\alpha = \frac{1}{2}$ in (3.1) and (3.2), after a little simplification, we get

$$\begin{aligned} & \int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} \operatorname{erfc} \left(\mp \frac{y}{x + a + \sqrt{x^2 + 2ax}} \right)^{\frac{1}{2}} \\ & \exp \left(\left(\frac{y}{x + a + \sqrt{x^2 + 2ax}} \right)^2 \right) dx = a^{\mu-\lambda} 2^{1-\mu} \Gamma(2\mu) {}_3\psi_3 \left[\begin{matrix} (1, 1), (\lambda + 1, 1), (\lambda - \mu, 1); & \frac{y}{a} \\ (\lambda + \mu + 1, 1), (\lambda, 1), (1, \frac{1}{2}); & \end{matrix} \right] \end{aligned} \quad (5.11)$$

$$\begin{aligned} & \int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda} \operatorname{erfc} \left(\mp \frac{xy}{x + a + \sqrt{x^2 + 2ax}} \right)^{\frac{1}{2}} \\ & \exp \left(\left(\frac{xy}{x + a + \sqrt{x^2 + 2ax}} \right)^2 \right) dx = a^{\mu-\lambda} 2^{1-\mu} \Gamma(\lambda - \mu) {}_3\psi_3 \left[\begin{matrix} (1, 1)(\lambda + 1, 1), (2\mu, 2); & \frac{y}{2} \\ (\lambda, 1), (\lambda + \mu + 1, 2)(1, \frac{1}{2}); & \end{matrix} \right] \end{aligned} \quad (5.12)$$

where erfc denote the complementary error function.

(vii) Taking $q = \gamma = \alpha = 1$ and $\beta = 2$ in (3.1) and (3.2), after a little simplification, we get

$$\begin{aligned} & \int_0^\infty x^{\mu-1} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda+1} \left(\exp \left(\frac{y}{x + a + \sqrt{x^2 + 2ax}} \right) - 1 \right) dx \\ &= ya^{\mu-\lambda} 2^{1-\mu} \Gamma(2\mu) {}_3\psi_3 \left[\begin{matrix} (1, 1), (\lambda + 1, 1), (\lambda - \mu, 1); & \frac{y}{a} \\ (\lambda + \mu + 1, 1), (\lambda, 1), (2, 1); & \end{matrix} \right] \end{aligned} \quad (5.13)$$

$$\begin{aligned} & \int_0^\infty x^{\mu-2} \left(x + a + \sqrt{x^2 + 2ax}\right)^{-\lambda+1} \left(\exp \left(\frac{xy}{x + a + \sqrt{x^2 + 2ax}} \right) - 1 \right) dx \\ &= ya^{\mu-\lambda} 2^{1-\mu} \Gamma(\lambda - \mu) {}_3\psi_3 \left[\begin{matrix} (1, 1)(\lambda + 1, 1), (2\mu, 2); & \frac{y}{2} \\ (\lambda, 1), (\lambda + \mu + 1, 2), (2, 1); & \end{matrix} \right] \end{aligned} \quad (5.14)$$

References

- [1] C. Fox, The asymptotic expansion of generalized hypergeometric functions, *Proc. Lond. Math. Soc.*, **27**, 389-400, (1928).
- [2] G.M. Mittag-Leffler, Sur la nouvelle fonction *C.R Acad. Sci. Paris*, **137**, 554-558, (1903).
- [3] F. Oberhettinger, *Tables of Mellin Transforms*, Springer-Verlag, New York, (1974).
- [4] T.R. Prabhakar, A singular integral equation with a generalised Mittag-Leffler function in the kernel, *Yokohama Math.J.* **19**, 7-15, (1971).
- [5] E.D. Rainville, *Special Functions*, The Macmillan Company, New York, (1960).

- [6] A.K. Rathie, A new generalization of generalized hypergeometric function, *LE MATEMATICHE LII(II)*, 297-310, (1997).
- [7] T.O. Salim, Some properties relating to the generalized Mittag-Leffler function, *Adv. Appl. Math. Anal.* **4**, 21-30, (2009).
- [8] A.K. Shukla and J.C. Prajapati, On a generalised Mittag-Leffler function and its properties, *J. Math. Anal. Appl.* **336**, 797-811, (2007).
- [9] H.M. Srivastava and P.W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press (Ellis Horwood Limited, Chichester, U.K.), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, (1985).
- [10] A. Wiman, Uber de fundamental satz in der theorie der funktionen, *Acta Math.*, **29**, 191-201, (1905).
- [11] E.M. Wright, The asymptotic expansion of the generalized hypergeometric functions, *J. Lond. Math. Soc.*, **10**, 286-293, (1935).
- [12] E.M. Wright, The asymptotic expansion of integral functions defined by Taylor series, *Philos. Trans. R. Soc. Lond.*, A **238**, 423-451, (1940).
- [13] E.M. Wright, The asymptotic expansion of the generalized hypergeometric function II, *Proc. Lond. Math. Soc.*, **46**, 389-408, (1940).

Author information

N.U. Khan, *M.M. Eltikali, M. Kamarujjama and *T.M. Elfrgani, Department of Applied Mathematics, Faculty of Engineering and Technology, Aligarh Muslim University, Aligarh-202002, India

*Department of Mathematics, Sam Higginbottom Institute of Agriculture Technology and Sciences, Allahabad, 211007, Uttar Pradesh, India.

E-mail: nukhanmath@gmail.com, mahmoodeltikali@gmail.com

Received: April 2, 2016.

Accepted: January 30, 2017.